I-HANA x+y7t

o
=

=

® 71~75

@ 66 ~ 70

@61 ~ 65

® 81 ~85

@ 76 ~ 80

T x+y=55+6=061




2. AABC oA «C = /E = 90°, /A = 40°, CD = ED ¥ o], zx 9
371=7

@ 45° @ 50° (@)65o @ 70° ® 75°

ABDE = ABDC(RHS&%) o] &,
(EBD = /CBD = 25° , ABDE ©J|A zx = 65°




3.

che 1T 2ol aABC o WHSHE A1 9 WA S| Po] x
Qdrtel7}?

@ 1lcm @ 2cm @3(:111 @ 4cm ® 5em

rr

x=CE=CF°|E2BD=BF=9-x,AD=AE=12-x
wEbA] (9 — x) + (12— x) = 15 O] BE x = 3(cm) ©|t}.
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’A
60’n’1
|
\ 30
B — = al
~_, D___--
@ 4cm @ 6cm ® 8cm

@ 10cm (@)12cm

~&B

/A 30
GC;/S%?A\N
I
2AB0° B0\ 30T~

D ‘GCm”D‘Gcm/ A

ADCA oA o] S#4tztdold &
/DCA = /DAC = 30° o]t}

7ot

A x =12cm ©|t}.

Mzre SV AL EE
(ADB = 60°, /DAB = 60°, ZABD = 60° ©|2& AABD +

w}etA] AB = BD = AD = 6cm ©]22 DC = 6cm ©|th. what




AP st M P oA OX,0Y
2t & uwf, AAOP = ABOP ¥&

@D SSS o= @ SAS 3= B AAA S

@IRHA &= ® RHS 3%

(AOP = /BOP, OP (&%), /OAP = /OBP = 90° °|2&
AAOP = ABOP
- RHA &%




+ ™M YT = aABC o] W o], Al A D,E,F & WY
79 ABC ] A o, BC 9] dol=?

o

® 6cm @ 7 cm ® 8 cm
C@)QCm ® 10 cm

B ~

A 17 Az ] YAol22 AD = AF,BE = BD,CE = CF
olmg

AD = AF = 2cm, BE = BD = 5¢cm, CE = CF ©|t}.

CF = 4cm = CE °|t},

~BC=BE+EC=5+4=9(cm)




7.

@ 30 @ 32 (@)35 @ 37 ® 39

1
LC = 5(180"—90") =45°

Lx=45

/C = /CBD = 45°0|2&

ACBDE BD = CD = 5cm ¢l o]5H4Ztdo|1, D& AC
o] FHClEE y =10

L x—y=45-10=35




8. o2 oA H1E H4ZE ABC 2] WAlelth AB//ID, AC//IE
o]1 AB = 11lcm ¢ ), AIDE 2] E&|2] Zo]&=?

11 11
® —=cm @ —=cm ®)1lcm

@ 12cm ® 13cm

B «
/ABI = /IBD ©]|1 /ABI = /BID(- AB//ID) ]2 /IBD =
/BID °|t}. = BD =ID

Ze oz /ACI = /ICE ©]1 /ACI = (CIE (.- AC//IE)
o]B2 /ICE = (CIE °|t}.= IE = EC ©|t}.

u}2tA] (AIDE ©] E¢¢] Zo]) =ID +DE +1E = BD + DE +
EC =BC = 11(cm) ©Jtt.




A2 ABC 9|4 AD = CE ©]11, AFBC = 45¢cm? ©|t}, oADFE
()

A
D
I
B C
@ 35cm? @ 40cm?2 @ 45cm?
@ 50cm? ® 55cm?

B )

AADC ¢} ACEB ©f| A

AC =CB,AD = CE, /DAC = /ECB = 60°
- AADC = ACEB(SASE%)

AADC = ACEB

OADFE + AFCE = AFBC + AFCE

.. OADFE = AFBC = 45 (cm?)




